
Time: 40 Minutes Paper Math 2 Total Marks: 25

2nd Month, 3rd Week, 6th Day  Syllabus: Revision Test

Q.1. Choose the correct option and fill in the blanks. (1×5=5)

ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzgggg{{{{àààà((((%%%%ææææFFFFNNNN™™™™,,,,XXXX

(i) 5 + 5 + 5 + 5 + 5 + 5 = _________________

(a) 5 times 2 2 ¢[ 5 (b) 5 times 5 5 ¢[ 5

(c) 5 times 6 6 ¢[ 5 (d) 6 times 5 5 ¢[ 6

(ii) 9 × 4 = _________________

(a) 16 (b) 28 (c) 30 (d) 36

(iii) 5, 10, 15, 20 _______________ 30

(a) 22 (b) 23 (c) 25 (d) 30

(iv) The symbol of multiplication is: ¢¢¢¢[[[[ÅÅÅÅ´́́́####ÖÖÖÖìììì::::

(a) + (b) – (c) @ (d) ×

(v) 4 × 7 = ?

(a) 14 (b) 21 (c) 28 (d) 35

Q.2. Complete the following by counting in steps of 5. (5)

ÆÆÆÆ™™™™ÐÐÐÐåååå™™™™,,,,XXXX 5

5 10 25 40 50

Q.3.Match the following. (5) ŠŠŠŠgggg̀`̀̀ffffssssÃÃÃÃ5555NNNNXXXX

2×3 5×8 9×4 9×3 7×2 8×9 7×7 7×8 9×7 4×7

• • • • • • • • • •

• • • • • • • • • •

56 49 28 27 40 6 36 14 63 72

Q.4. If each flower pot has 8 flowers then how many flowers do 3 flower pots have

altogether. (5) ',àV~ÄYwƒVÐ? 3 YwƒVÂ 8 Z¤/YßVÆCÙ',@~

Q.5. Write the table of "9" in words. (5) »NhZZÖp~KX 9
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